Get the ultimate solution for your take-away business



Salad bowls are engineered to contain all your customers' needs

Your clients' offer keeps changing, your solution does not: with Ecopack take-away line you are **always ready to meet their needs**. Deli shops, specialties food stores, take-away shops, all served with one product range.

SALAD BOWLS



- > Bamboo cardboard
- > Four sizes available
- > Perfect for take-away
- > For both hot and cold dishes

Ready to be delivered with our Professional Line

Our Professional Line provides you the perfect mix:

- > Pre-packed sleeves
- > Small quantities per pack
- > The right product information
- > The whole range

Ready for resale!









Take-away Ecopack

Ecopack salad bowls combine practicality and sustainability with the request of Professionals to be in line with the trends of eco-sustainability. Ecopack offers the whole product range made of renewable and recyclable raw materials, they are suitable for cold (salads, poke) and hot preparations, they can resist an operating temperature between -18°C and 70°C (not suitable for use in conventional ovens). They are made of materials suitable for food contact, free from hazardous substances and from food contamination. Ecopack salad bowls have obtained the Aticelca certification with recyclability level A, meaning that up to 90% of the paper in in every recycled salad bowl can be reused.

Bamboo salad bowls + PP with lid





Item	Description	Top out	Bottom	Height	Capacity	Pcs per sleeve	Sleeves per box	Pcs per box	Boxes per pallet	Pcs per pallet
EC500/15045	Extra small salad bowl	150	128	45	500 ml	50	6	300	20	6.000
EC750/15060	Small salad bowl	150	128	60	750 ml	50	6	300	20	6.000
EC1000/15080	Medium salad bowl	150	129	80	1.000 ml	50	6	300	20	6.000
EC1300/18466	Large salad bowl	184	160	66	1.300 ml	50	6	300	14	4.200
EC150/COP-PET	Lid for x-small, small, medium bowl	150	-	25	-	50	6	300	33	9.900
EC184/COP-PET	Lid for large bowl	184	-	17	-	50	6	300	32	9.600



engineered to contain all your customers' needs

+39 0119657657 info@ecopack.com www.ecopack.com